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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1) narjmWu gd©àW_ AnZo àíZ-nÌ na Zm_m§H$ A{Zdm ©̀V… {bI| &

Candidate must write first his / her Roll No. on the question paper
compulsorily.

2) g^rg^rg^rg^rg^r àíZ H$aZo A{Zdm ©̀ h¢ &

All the questions are compulsory.

3) àË òH$ àíZ H$m CÎma Xr JB© CÎma-nwpñVH$m _| hr {bI| &

Write the answer to each question in the given answer-book only.

4) {OZ àíZm| _| AmÝV[aH$ IÊS> h¢, CZ g^r Ho$ CÎma EH$ gmW hr {bI| &

For questions having more than one part, the answers to those parts
are to be written together in continuity.
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5) àíZ-nÌ Ho$ {hÝXr d A§J«oOr ê$nmÝVa _| {H$gr àH$ma H$s Ìw{Q> / AÝVa / {damoYm^mg hmoZo na {hÝXr
^mfm Ho$ àíZ H$mo hr ghr _mZ| &
If there is any error / difference / contradiction in Hindi & English
version of the question paper, the question of Hindi version should be
treated valid.

6) àíZ H$m CÎma {bIZo go nyd© àíZ H$m H«$_m§H$ Adí` {bI| &
Write down the serial number of the question before attempting it.

IÊS> - AIÊS> - AIÊS> - AIÊS> - AIÊS> - A

SECTION - A

1) ~hþ{dH$ënr àíZ - [16 × ½ = 8]

Multiple Choice Questions -

i) {ZåZ ‘| go H$m¡Z EH$ ñQ>moaoO {S>dmBg h¡? [½]

(A) hmS>© {S>ñH$ (~) noZ S´>mBd

(g) ‘o‘moar H$mS>© (X) Cnamo³V g^r

Which of the following is a storage device?

(A) Hard Disk (B) Pen Drive

(C) Memory Card (D) All of these

ii) nm¶WZ ‘| EH$ ’$mBb ImobZo Ho$ {bE .......... ’§$³eZ H$m Cn¶moJ H$aVo h¢ &> [½]

(A) close () (~) read ()

(g) open () (X) write ()

_______ function is used in python to open a file.

(A) close () (B) read ()

(C) open () (D) write ()
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iii) O~ EH$ Am°naoQ>a H$mo JbV S>oQ>m àH$ma Ho$ ‘yë¶ Ho$ gmW Amny{V© H$s OmVr h¡ Vmo H$m¡Z gm AndmX CR>m¶m
OmVm h¡? [½]

(A) àmê$n Ìw{Q> (~) ‘mZ Ìw{Q>

(g) Am¶mV Ìw{Q> (X) Zm‘ Ìw{Q>

When an operator is supplied with a value of incorrect data type then which
exception is raised?

(A) Type Error (B) Value Error

(C) Import Error (D) Name Error

iv) EH$ H$åß¶yQ>a ZoQ>dH©$ - [½]

(A) ¶h H$åß¶yQ>a Ho$ hmS>©do¶a Am¡a CgHo$ KQ>H$mo H$m g§J«h h¡ &

(~) ¶h g§Mma M¡Zb Ûmam nañna OwS>o hþ¶o h¡ &

(g) g§gmYZm| Am¡a gyMZmAm| H$mo gmPm H$aZo H$s AZw‘{V XoVm h¡ &

(X) CnamoŠV g^r

A Computer Network -

(A) It is a collection of hardware components and computer

(B) It is interconnected by communication channels

(C) Allows sharing of resources and information

(D) All of above

v) ñQ>¡H$ EH$ Eogm V§Ì h¡ Omo ......... ì¶dñWm H$mo bmJy H$aVm h¡ & [½]

(A) ’$ñQ>© - BZ - ’$ñQ>© AmCQ> (~) bmñQ> - BZ - bmñQ> AmCQ>

(g) bmñQ> - BZ - ’$ñQ>© AmCQ> (X) BZ‘| go H$moB© Zht

Stack is a mechanism that implements _______ arrangement.

(A) First - In - First - Out (B) Last - In - Last - Out

(C) Last - In - First - Out (D) None of these
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vi) VËdm| Ho$ g§J«h H$mo {H$gr {deof H«$‘ ‘| aIZo ¶m nwZì¶©dpñWV H$aZo H$s à{H«$¶m H$mo ³¶m H$hVo h¡?[½]

(A) ImoOZm (~) N>±Q>mB©

(g) ñQ>¡H$ (X) n§{³V

The process of placing or rearranging a collection of elements into a particular
order is known as -

(A) Searching (B) Sorting
(C) Stack (D) Queue

vii) FRONT H$mo n§{³V Ho$ .......... Ho$ ê$n ‘| ^r OmZm OmVm h¡ & [½]

(A) REAR (~) TAIL

(g) HEAD (X) CnamoŠV _| go H$moB© Zhr

______ is also known as FRONT of queue.

(A) REAR (B) TAIL
(C) HEAD (D) None of these

viii)  {ZåZ ‘| go H$m¡Z gm MySQL H$m S>oQ>m H$m àH$ma h¡? [½]

(A) CHAR (n) (~) INT

(g) FLOAT (X) Cnamo³V g^r

Which of the following is data types in MySQL?

(A) CHAR (n) (B) INT
(C) FLOAT (D) All of these

ix) RDBMS H$m nyam Zm‘ h¡ - [½]

(A) [aboeZb S>oQ>m~og ‘¡ZoO‘|Q> {gñQ>‘ (~) aoÝS>‘ S>oQ>m~og ‘¡ZoO‘|Q> {gñQ>‘

(g) [aS>²¶y‘ S>oQ>m~og ‘¡ZoO‘|Q> {gñQ>‘ (X) a{OñQ>a S>oQ>m~og ‘¡ZoO‘|Q> {gñQ>‘

Full name of RDBMS is

(A) Relational Database Management System
(B) Random Database Management System

(C) Reduce Database Management System

(D) Register Database Management System



5

SS–03–Comp.Sci. (Opt.) 6003

x) {ZåZ _| go H$m¡Z EH$ ZoQ>dH©$ CnH$aU h¡? [½]

(A) B©WaZoQ> H$mS>© (~) pñdM

(g) amCQ>a (X) CnamoŠV g^r

Which of the following is a Network device?

(A) Ethernet card (B) Switch

(C) Rauter (D) All of these

xi) AmB© nr ES´>og ³¶m h¡? [½]

(A) B§Q>aZoQ> nm°da ES´>og (~) B§Q>aZoQ> àmoQ>moH$m°b ES´>og

(g) B§S>ñQ´>r nmda ES´>og (X) B§S>ñQ´>r àmoQ>moH$m°b ES´>og

What is IP address?

(A) Internet power address (B) Internet protocal address

(C) Industry power address (D) Industry protocal address

xii) 1kb ‘| ............. {~Q>g² hmoJr & [½]

(A) 1000 (~) 1024

(g) 100 (X) 512

There are ______ bits in 1kb.

(A) 1000 (B) 1024

(C) 100 (D) 512

xiii) dh ‘mZ Omo {H$gr Ma Ho$ {XE JE S>oQ>m ‘| g~go A{YH$ ~ma àH$Q> hmoVm h¡, ........... H$hbmVm h¡ &[½]

(A) ‘mÜ¶ (~) ~hþbH$

(g) ‘mpÜ¶H$m (X) CnamoŠV _| go H$moB© Zht

The value that appears must number of times in the given data of an variable
is called _______.

(A) Mean (B) Mode

(C) Median (D) None of these

[ Turn Over
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xiv) <r>, ’$mBb H$mo ........... ‘moS> _| ImobVm h¡ & [½]

(A) nT>Zo Am¡a {bIZo XmoZm| Ho$ (~) n[a{eîQ> Ho$

(g) {bIZo Ho$ (X) Ho$db nT>Zo Ho$

<r>, opens the file in ______ mode.

(A) both read and write (B) append

(C) write (D) read only

xv) EH$ ‘erZ go Xÿgar ‘erZ ‘| ’$mBb Q´>m§g’$a H$aZo Ho$ {bE BñVo‘mb {H$¶m OmZo dmbm àmoQ>moH$m°b H$m Zm‘
³¶m h¡? [½]

(A) HTTP (~) SMTP

(g) FTP (X) PPP

What is the name of protocal used for transferring files from one machine to
another?

(A) HTTP (B) SMTP

(C) FTP (D) PPP

xvi) {ZåZ ‘| go H$m¡Z EH$ ‘¡bdo¶a h¡ & [½]

(A) dm¶ag (~) Q>́moOZ

(g) ñnmBdo¶a (X) Cnamo³V g^r

Which of the following is a Malware?

(A) Virus (B) Trojan

(C) Spyware (D) All of these
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2) [aŠV ñWmZm| H$s ny{V© H$s{OE - [10 × ½ = 5]

Fill in the blanks -

i) ........... ‘moS> H$m Cn¶moJ ’$mBb H$mo nT>Zo Am¡a {bIZo XmoZmo§ ‘moS> _| ImobZo Ho$ {bE {H$¶m OmVm h¡ &[½]

______ mode is used to open the file in both read and write mode.

ii) .......... AmnaoeZ H$m Cn¶moJ ñQ>¡H$ Ho$ g~go D$nar VËd H$mo hQ>mZo Ho$ {bE {H$¶m OmVm h¡ & [½]

______ operation is used to remove the topmost element of the stack.

iii) AndmX H$mo CR>mZo Ho$ {bE ........... H$WZ H$m Cn¶moJ {H$¶m Om gH$Vm h¡ & [½]

The _______ statement can be used to throw an exception.

iv) EH$ ³¶y na g§MmbZ ............ H«$‘ ‘| {H$¶m OmVm h¡ & [½]

Operation on a queue are performed in _____ order.

v) ........... EH$ N>§Q>mB© (gm°{Q>ªJ) H$s VH$ZrH$ h¡ & [½]

______ is a sorting technique.

vi) S>oQ>m Ho$ A{YH$V‘ Am¡a Ý¶yZV‘ ‘mZm| Ho$ ~rM H$m A§Va ........ H$hbmVm h¡ & [½]

______ is the difference between maximum and minimum values of data.

vii) LAN H$m nyam Zm‘ ............ hmoVm h¡ & [½]

Full form of LAN is _______.

viii) {H$gr S>oQ>m~og ¶m Q>o~b H$mo {gñQ>‘ go ñWm¶r ê$n go hQ>mZo Ho$ ...... ñQ>oQ>‘|Q> H$m Cn¶moJ H$aVo h¡§ & [½]

_______ statement is used to remove a database or table permanently from
the system.

ix) ........... Q>monmobm°Or ‘| àË¶oH$ g§Mma CnH$aU EH$ H|$Ðr¶ ZoQ>d{Hª$J go OwS>m hmoVm h¡ & [½]

In ______ topology, each communicating device is connected to a central
networking device.

x) ~¢S>{dS²>W H$mo ........... ‘| ‘mnm OmVm h¡ & [½]

Bandwidth is measured in _________.

[ Turn Over
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3) A{V bKwÎmamË_H$ àíZ - [8 × 1 = 8]

Very short answer type questions -

i) {H$Ýht Xmo A§V{Z{‘©V AndmXmo§ Ho$ Zm‘ {b{IE & [1]

Write name of any two Built - in Exception.

ii) AndmX nH$S>Zm ³¶m hmoVm h¡? [1]

What is catching an exception?

iii) readline () \§$ŠeZ ³¶m hmoVm h¡? [1]

What is readline () function.

iv) {H$Ýht Xmo N>§Q>mB© (gm{Q>ªJ) {d{Y¶m| Ho$ Zm‘ {b{IE & [1]

Write name of any two sorting methods.

v) ‘mÜ¶ ³¶m h¡? [1]

What is Mean?

vi) SQL _| ³doar go Amn ³¶m g‘PVo h¡? [1]

What do you understand by Query in SQL.

vii) SQL _| {H$Ýht Xmo pñQ´>¨J ’§$³e§g Ho$ Zm‘ {b{IE & [1]

Write any two string functions name in SQL.

viii) S>oQ>m g§MmaU ³¶m h¡? [1]

What is data communication?
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IÊS> - ~IÊS> - ~IÊS> - ~IÊS> - ~IÊS> - ~
SECTION - B

bKwÎmamË_H$ àíZ - [12 × 1½ = 18]
Short answer type questions -
4) AndmX H$mo g§̂ mbZo Ho$ MaU {b{IE & [1½]

Write the steps of handling exception.

5) ~mBZar \$mBb go Amn Š`m g_PVo h¢? [1½]
What do you understand by binary files?

6) ñQ>¡H$ ³¶m hmoVm h¡? [1½]
What is Stack?

7) n§{³V Ho$ H$moB© Xmo AZwà¶moJ {b{IE & [1½]
Write any two applications of Queue.

8) ~~b gmQ>© Ho$ ~mao ‘| {b{IE & [1½]
Write about bubble sort.

9) a¡{IH$ ImoO ³¶m hmoVr h¡? [1½]
What is Linear search?

10) ‘mpÜ¶H$m H$mo n[a^m{fV H$s{OE & [1½]
Define Median.

11) {H$gr S>oQ>m~og ‘| Hw§$Or go Amn ³¶m g‘PVo h¡? [1½]
What do you understand by keys in database?

12) SQL ‘| DESCRIBE ñQ>oQ>‘|Q> H$m Cn¶moJ {b{IE & [1½]
Write the use of DESCRIBE statement in SQL.

13) SQL ‘| Cn¶moJ AmZo dmbo {H$Ýht Xmo S>oQ> ’§$³e§g Ho$ ~mao ‘| {b{IE & [1½]
Write about any two date functions used in SQL.

[ Turn Over
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14) ZoQ>dH©$ Q>monmobm°Or ³¶m hmoVr h¡? [1½]

What is Network topology?

15) dm¶ag ³¶m hmoVm h¡? [1½]

What is Virus?

IÊS> - gIÊS> - gIÊS> - gIÊS> - gIÊS> - g

SECTION - C

XrK©CÎmar` àíZ - [3 × 3 = 9]

Long answer type questions -

16) nmoñQ>{’$³g ZmoQ>oeZ ³¶m hmoVm h¡? CXmhaU g{hV g‘PmBE & > [3]

What is postfix notation? Explain with example.

AWdm/OR

nmoñQ>{’$³g A{^ì¶{³V 7 8 2 * 4 / + H$m ‘mZ kmV H$s{OE &

Find the value of postfix expression 7 8 2 * 4 / +.

17) n§{³V H$s ì¶m»¶m CXmhaU g{hV H$s{OE & > [3]

Explain Queue with example.

AWdm/OR

{S>³¶y ³¶m hmoVr h¡? BgHo$ AZwà¶moJ {b{IE &>

What is Deque? Write its applications.

18) EëJmo[aX‘ H$s g‘¶ O{Q>bVm H$m dU©Z H$s{OE & > [3]

Explain time complexity of an Algorithm.

AWdm/OR

B§ge©Z gm°Q>© H$mo g‘PmBE &

Explain Insertion sort.
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IÊS> - XIÊS> - XIÊS> - XIÊS> - XIÊS> - X

SECTION - D

{Z~ÝYmË_H$ àíZ - [2 × 4 = 8]

Essay type questions -

19) {ZåZ{b{IV gyMr ‘| go Hw§$Or VËd 20 H$mo ImoO H$aZo Ho$ {bE a¡{IH$ ImoO H$s MaU Xa MaU à{H«$¶m {b{IE &

[15,4,27,20,31,9] > [4]

Write step by step process of linear searching to find key 20 from the following
list.

[15,4,27,20,31,9]

AWdm/OR

a¡{IH$ Am¡a {ÛAmYmar ImoO _| CXmhaU g{hV A§Va H$s{OE &

Differentiate Linear and Binary search with example.

20) S>r ~r E‘ Eg Ho$ à‘wI H$m°ÝgoßQ> (AdYmaUmAm|) H$m {dñVma ‘| dU©Z H$s{OE & [4]

Explain the key concepts of DBMS in detail.

AWdm/OR

{ZåZ ‘| A§Va H$s{OE - [2 + 2 = 4]

i) àmB‘ar H$s Am¡a ’$°maoZ H$s

ii) E{Q´>ã¶yQ> Am¡a Q>nb

Differentiate following -

i) Primary key and Foreign key

ii) Attribute and Tuple





DO N
OT W

RIT
E A

NYTHIN
G H

ERE


